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1. STFATT BT FHTTAT el ATl TTeh! I TTEATOId ®T T gl Il o-

A) SITTATTAS dTATa 0]
B) faretet
C) saaaT

D) 3YHFAT
The factors affecting business are collectively known as-
A) business environment
B) planning
C) business

D) consumer

2. A T hieT TR ATATERUT T TEHh &2

A) 3T JoTrelr
B) 3nfde Aifaar
C) 3T game
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D) 3T HiT

Which of the following is an element of economic environment?
A) economic system

B) economic policies

C) economic conditions

D) All of these

3. fdea ferar Srar g
A) TAAT & foT
B) #ifasg & forw
C) #{cTehlel & T

D) @t g7 & forw

Planning is done
A) for present
B) for future
C) for past

D) for all times
4. TrarTeT ufehar 7 yUH wgA &-

A) Ta&heul ST ggdTel Sl

B) HaAG fAdhe &1 Tdel el
C) 3eaed fauiia &

D) FHTEIT &=

The first step of planning is-

A) identification of the alternatives
B) selecting the best alternative

C) setting objectives

D) follow up action



5. JHTAT AR & forw 3masae &
A) B9 T glaer

B) TEART JUT GH-aT

C) 3TTAHRT shT TISETRIOT

D) Ig |l

Effective delegation needs-

A) facility to contact

B) co-operation and co-ordination

C) clear explanation of authorities

D) all of these

6. HET STIR agR il &
A) 3eTehTele I H

B) HLIHToll Y H

C) ErdehTolle] Y &

D) $71H 8 IS 576t

Money market deals in
A) short term funds
B) medium term funds
C) long term funds

D) none of these

7. YT hT AR &
A) GHeaT
B) 3T&eT
C) fgfFasior
D) faz=oT



Essence of management is
A) co-ordination
B) organization
C) Staffing
D) controlling
8. Y&t H fehctel TR B &7
A)2
2)3
C)4
D)5
How many levels are there in management?
A) 2
B) 3
C) 4
D) 5
9. TdeTeR sl TatT & fohd TR A HIFATI fohaT ST 87
A) 3=T ER
B) ALY X

C) T TR
D) 39Rerd HY

In which level a supervisor is included?
A) Top level
B) middle level

C) lower level

D) all of these

10. T & @ Fi g FHr _AAwar g



A) Hrefgen fohar
B) A Hishar
C) araNifAs

D) 3uierd |

Which of the following is a characteristic of Management?
A) group activity
B) continuous process
C) Universal process

D) all of these

11. I8 ST ST 31T TFIAT A 1Y e T &TAAT TWAT § 38 Fad &
A) FHARY

B) Ut

C) 3T

D) 3rymET

The person who has the ability to get work done by others is known as
A) worker
B) manager

C) entrepreneur

D) economist

12. g1 el o 6anT feu 10 yaiyy & fagyiar fr aear g
A) 10

B)S

C) 14

D) 15

Number of management principles given by Henry Fayol is

A) 10



B) 5
C) 14
D) 15
13. 8o el & Tohe TReiiel & 3THR Teh TRTEY T Ueh €1 31TRIhRT & 3TEer WIed gl =g w?
A) 3T1ERT Y ThdT
B) facer &t wahrar
C) AT
D) HIYTeT Helt
According to which principle of Henry Fayol, a subordinate should get orders from only one superior?
A) Unity of command
B) unity of direction
C) equity
D) scalar chain

14. d3TeYeh 9o H faRelvor
A)25%
B) 50%
C) 75%
D) 100%
Analysis in scientific management is
A) 25%
B) 50%
C) 75%
D) 100%

15. a3 Ye & Sleleh &



C) Sifef 3R &
D) &Ie8 Hes

The father of scientific management is
A) Henri Fayol
B) F. W. Taylor
C) George R. Terry

D) Harold Kuntz
16. §oT<T ST T ST G3T AT
INKEIEIGE:]
B) %I &
C) STHAT &
D) 3ARET &
Henri Fayol was born in
A) Japan
B) France

C) Germany

D) America

17. A HT UaTE BT &
A) TR &I IR

B) & fr 3R

C) A TR I

D) 33 ¥ IS 181
Flow of direction is
A) upward

B) downward



C) at parallel

D) none of these

18. FHFATRAT o faehr # AFAfIT &

A) UgledATd

B) TATATALIT

C) gfRreqor

D) Ig |l

Development of employees involves
A) Promotion
B) Transfer
C) Training

D) All of these
19. SToIeT US sTeeTel AT ATHe YEcieh ehl TeT fehdiel ht &Y 2

A) BT el

B) Ttho Ssego Telk
C) TSt 310 &r
D) gX1es FHesT

Who wrote the book "General and Industrial Management"?
A) Henri Fayol
B) F. W. Taylor
C) George R. Terry

D) Harold Kuntz

20. T F AT
A) TI3EToT
B) e



C) fFIRom
D) 39 HHY

Elements of direction are
A) supervision

B) leadership

C) motivation

D) all of these
21. HERMATE & geIcH Y&ThR 81 &
A)l
B)2
C)3
D)4
The minimum parties to communication are
A) 1
B) 2
C) 3
D) 4
22. foTA0T 3MaRTS §
A) oY 395 & faw
B) #EIH 3HTHN & 3THHA & [T

C) §13 37T & 3U%hHA & [T
D) 3Wied T8 & forw

Controlling is necessary
A) For small Enterprise
B) for medium size Enterprise

C) for large size Enterprise



D) for all the above
23. TAYFAhoT I < foham aram et &

A) &1sT T SETEY
B) 3T

C) lafaae=

D) g18 & FIg =Tel

Money spend on staffing is
A) wastage of money

B) necessary

C) investment

D) none of these

24. T weeres oot 7 & foraey wefla faoTar o 82
A) faa
B) fafa=er
C) ST

D) 39Rerd HY

Which of the following decision is taken by a financial manager?
A) Finance
B) Investment
C) dividend

D) all the above
25. Qell & T HATT &
A) el
B) Heg
C) Pleehrr
D) YeeTs
Head office of SEBI is located in

A) Delhi

B) Mumbai



C) Kolkata

D) Chennai
26. Tehee, fqafor fohaeh fReil hr et el g 2
INMGERED

B) &YaiT

C) THR

D) $o1H & 1S =Tgr

Whose interest is protected by stock exchange?
A) Investor
B) Company
C) Government

D) None of these

27. fa9uTeT STHBRT BT &
A) 3THFATHT & forT

B) fa#Tan3it & forw

C) SIaaT & folT

D) g8 & forw

Marketing is advantageous
A) for consumers
B) for manufacturers
C) for business

D) for all of them
28. fAF T F & 317 TaTaROT &7 ded st TTE?

INGIGE
B) 3¢c2T



C) TS T
D) 39 HHY

Which of the following is an element of internal environment
A) policies

B) objective

C) organisational structure

D) all of these

29. Y& T AR &

A) §HeaT

B) TTSaT

)] iﬁﬂi?ﬂ%!ul

D) faz=oT

Essence of management is
D) co-ordination
E) organization
F) Staffing

D) controlling
30. TEG3T T QATHT & ScuTes i =75 ATt Hr @iet oo & @ fonareh 37craia 31mar g7
INEEGIGERCIGICE

B) TTHATISIeh aTcTaxor

C) Teheilehl aTdTavoT

D) $oTH W I oFel

New techniques of production of goods and services come under which of the following?

A) political environment

B) social environment



C) technical environment

D) none of these

31. foarsrer ufshar 7 3ifas wRoT #
A) faedr 1 ggare T
B) 3¢ae¥ fAuiRa sar

C) GHYET AT

D) TTSTeIT &l oTa] el

The last step of planning process is
A) identification of alternatives

B) setting objectives

C) follow up action

D) implementing the plan

32. TR HaTST BT & 3Tl HEUT Sl 3Heh GaRT ScdTied ehT STTet dTel HET 3cUlal & TR T
fasniord frar sirar g 2

A) g a1 F3fasterer Harae o

B) FTcHS TS S
C) AT IS &rdT
D) 3T & FIg 71

In which type of organisational structure the enterprise is divided according to the main products
manufactured by it?

A) divisional organisational structure
B) functional organisational structure
C) Informal organisational structure

D) none of these

33. AR fohaT ST FehaT &
INEIBEIr D]



B) 3RGIAcd &l
C) STaTacar ar
D) 3 I TR T TgT

Delegation can be done of
A) authority

B) responsibility

C) accountability

D) none of these

34. ToloT 7 9 et AT Y faAweT § 2

A) FASTIH

B) #fasgardy

C) ATATHS Ufehar
D) 39erd T

Which of the following is a characteristic of planning?

A) all pervasive
B) futuristic

C) mental process
D) all of these

35.99¢T &

INBEEIG]

B) el

C) el vd faaT et
D) ST & &g =Tel

Management is
A) science
B) art
C) art and science both

D) none of these

36. fe=T & & -1 AT JTATaIUT ST 3ET8I0T 57
A) 3




B) 3UHIeFar axafor ifafaas
C) IRAR Fr 7=
D) IS 3

Which of the following is an example of social environment?

A) supply of money

B) Consumer Protection Act
C) composition of family
D) national income

37. g BTl & GaRT [T aTT Jayer & fAguTdl bl §&ar &

A) 10
B) 5
C) 14
D) 15
Number of principles given by Henry Fayol is

A) 10
B) 5
C) 14
D) 15

38. AATTIeh Teer & FEcishell &

A) goll harel

B) Ttho Sscgo ¢olk
C) SITeT 3Re &
D) S8 § IS et

The propounder of Scientific Management was

A) Henry Fayol
B) F. W. Taylor
C) .George Terry
D) None of them

39. A& H @ dca

A) 1
B) 2
C) 3
D) 4
Main elements of direction are

A) 1

B) 2

C) 3

D) 4
4o.ﬁ?ﬁ'€rq-q’"zra:r§1§zra:rér%



A) TaeiT HarsTe e

B) I YTC il

C) YCH ST T e hlall
D) 3uderd @efr

Main function of financial management is
A) financial planning
B) procurement of funds
C) allocation of net profits

D) all of these



